Rev. 00

K OLPIN

89465 - ATV DOUBLE FUEL PACK BRACKET
Fuel Pack JR. Not Included

SPARE PART
ITEM NO. NUMBER DESCRIPTION QTY.
1 --- METAL MOUNTING BRKT 1
2 89435 MOLDED TANK BRACKET 2
3 79475 T-KNOB 2
4 % 1/4"-20 X 7/8" TRUSS HEAD BOLT 4
] Z 1/4" THIN NYLOCK NUT 10
6 z 1/4" FLAT WASHER 6
7 ¥ 1/4"-20 U-BOLT 3

* HARDWARE PACKAGE PART NO. KOLOO17




Rev. 00

Assembly Instructions:

1. Attach molded tank brackets to metal mounting bracket using 1/4”-20 x7/8” truss head
bolts (4) and 1/4"-20 nylock nuts (4) as shown above.
2. Determine mounting location on ATV and attach metal mounting bracket to ATV
tubular rack using 1/4"-20 U-bolt (3), 1/4" washer (6), and 1/4"-20 nylock nuts (6).
a. Note — All three U-bolts must be used for proper support.
Tighten all hardware.
4. Attach T-knob to molded tank bracket by threading the T-knob into the bracket.

w

Fuel Pack Attachment:

1. Fuel Pack JR’s are sold separately
2. Sleeve Fuel Pack JR onto molded tank bracket and secure with T-knob
3. Toremove Fuel Pack JR, simply turn T-knob ¥ turn and slide Fuel Pack JR off bracket.

Kolpin Outdoors, Inc.
205 N. Depot Street, Fox Lake, W1 53933
Phone #: (877) 9KOLPIN or (920) 928-3118
www.kolpin.com customerservice@kolpin.com



http://www.kolpin.com/
mailto:customerservice@kolpin.com

K

Rev. 00

LIPll]

89465 - sUPPORT DOUBLE DE BIDON A ESSENCE POUR VTT

Petit bidon a essence non compris

N° D’ELEMENT | N° DE PIECE DE DESIGNATION QTE
RECHANGE
1 o SUPPORT DE MONTAGE EN METAL 1
2 89435 SUPPORT MOULE DE BIDON 2
3 79475 BOUTONEN T 2
4 * BOULON A TETE BOMBEE, % PO-20X 7/8PO | 4
5 * ECROU A FREIN ELASTIQUE, % PO 10
6 * RONDELLE PLATE, % PO 6
7 * BOULON EN U, % PO-20 3

#* NUMERO DE PIECE DE L°’ENSEMBLE DE FIXATIONS : KOL0017




Rev. 00

Assemblage :

1. Fixez les supports moulés de bidon au support de montage en métal a I’aide des boulons
a téte bombée de ¥ po-20 x 7/8 po (4) et des ecrous a frein élastique de ¥4 po-20 (4),
comme le montre 1’illustration.

2. Déterminez I’emplacement de montage sur le VTT et fixez le support de montage en
métal sur le porte-bagages tubulaire a I’aide des boulons en U de ¥ po-20 (3), des
rondelles de ¥ po (6) et des écrous a frein élastique de % po-20 (6).

a. Remarque : Les trois boulons en U doivent étre installés pour un soutien adéquat.

3. Serrez toutes les fixations.

4. Fixez le bouton en T en le vissant au support moulé de bidon.

Fixation du bidon a essence :

=

Les petits bidons & essence sont vendus séparément.

Glissez le petit bidon a essence sur le support moulé de bidon et fixez-le avec le bouton
enT.

Pour enlever le petit bidon a essence, tournez le bouton en T de ¥4 tour et faites glisser le
petit bidon a essence pour le sortir du support.

Kolpin Outdoors, Inc.
205 N. Depot Street, Fox Lake, W1 53933
Téléphone : 877 9KOLPIN ou 920 928-3118
www.kolpin.com customerservice @kolpin.com



http://www.kolpin.com/
mailto:customerservice@kolpin.com

